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= Al 672,977,848 | 100.00% 596,616,052 | 100.00% 76,361,796 12.80%
B3 A 656,992,135 97.62% 581,970,324 | 97.55% 75,021,811 12.89%
SE3 15,985,713 2.38% 14,645,728 2.45% 1,339,985 9.15%
JIEtSE 3 15,985,713 2.38% 14,645,728 2.45% 1,339,985 9.15%
a=EAMHEE A 3,878,334 0.58% 3,468,334 0.58% 410,000 11.82%
SI2=2HSEEA 844,897 0.13% 819,190 0.14% 25,707 3.14%
A2 =SE3 1,575,608 0.23% 1,575,608 0.26% 0 0.00%
FEAIHSE 3 27,049 0.00% 27,049 0.00% 0 0.00%
JIBtANERE=SEE3 96,057 0.01% 96,057 0.02% 0 0.00%
s3EHNEZLEE S 700 0.00% 700 0.00% 0 0.00%
AHHXH=SLHMelAIE 800,000 0.12% 780,000 0.13% 20,000 2.56%
swesJ)

ime&%%wr%%ga 5,411,367 0.80% 4,926,530 0.83% 484,837 9.84%
FESYHENILHIISSE 40,000 0.01% 40,000 0.01% 0 0.00%
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FEZTEIMLEEI N 3,072,180 0.46% 2,672,739 0.45% 399,441 14.95%
LHAFHASXNZMNSSE 41,200 0.01% 41,200 0.01% 0 0.00%
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198,321 0.03% 198,321 0.03% 0 0.00%




